



Module 7.1 
–
 
Answer 
to 
Exercise 1









1.	Which 3 conditions must be fulfilled in order that test question be considered in complete concordance with the objective?



	(a)	the conditions must be congruent with those of the objective



	(b)	the type of behaviour/performance required must be congruent with 		what is stated in the objective



	(c)	the success criterion must be congruent with the standard described in 		the objective





2.	Is there anything wrong with a test question which has Pu < 60%?     Yes



	If yes, what?    The test question is too difficult









3.	Is there anything wrong with a test question which has Pu > 60% and Pi > 40%?  



	Yes.  If yes, what?    The test question is too easy









4.	Is there anything wrong with a test question which has Pu > 60% and Pi < 40%?  



	No.  If yes, what?    











Validation of Objectives and Tests
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